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AN SUS
M SUHS A3
Chell FUNXME HASH U ALK o)
SN I SRI(S) - NRAY - B e 2
SUs 296,269 278,322 17,947
SUs A3 206,040 188,080 17,960
FOTXHEH HA2E & HIAALXH 120,680 102,720 17,960
FUXXHEH2S 91,220 73,560 17,660
201 LEHRHH| 91,220 73,560 17,660
01 AtR2eldl 91,220 73,560 17,660
OFUXXdEH=2H 91,220,000& 91,220
= HEOJAIEZXIA 29,460 29,160 300
201 ZEH2IH] 25,260 25,260 0
02 =224l 25,260 25,260 0
OB AR ZHANAHEESZ 155,000& 123 1,860
oo =t| 3,200,000& 3,200
O 22 Rl 1,000, 000& 1,000
OArR 4 2teld| 19,200,000& 19,200
203 HRF&H 2,800 2,500 300
03 AHMFAHR=AY| 2,800 2,500 300
OsEYRAHEFA 2,800,000& 2,800
301 Lptsazg 1,400 1,400 0
09 ZBU2RRIBLS 1,400 1,400 0
OAtz|=Red ZZERE 1,400
-S4l 5,000 »1H 280 1,400
sSclotE s 85,360 85,360 0
ScletdsE4 R 85,360 85,360 0
301 Lptsaazg 85,360 85,360 0
05 &-cl-tEassads 85,360 85,360 0
Os&=¢ 200,000 »22H =12 52,800
OsEAM= 200,000& +22H *23] 8,800
OF=FSEeiicib=gaRa=y 20,0003 22 +23| 12 10,560
Oet& & sl 50,0003 264 & x 12l 13,200
HY2IHH(BUS) 90,229 90,242 VARIKC]
IEZEHI(BUS) 29,471 26,798 2,673
HFIAHBI(BUS) 19,471 17,398 2,073
101 el H] 19,471 17,398 2,073
09 RIAHAZZNE =S 19,471 17,398 2,073
OFAZegE2Y 19,471
== 734,800& x1H+12& 8,818
-a 0= 8,817,600 %1/3 2,940
“AN2Hel =S 6,330 x 1H +22A| 2tx 12 1,672
-FE2RE 50,640 x1H+x22 x 123 1,216
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el el FH(SUHS) (&)
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
=54 33,7603 x 1 »52== 1,756
ERPN R Sl 33,7603 15 507
-Jtet= 8,817,600& * 1/10 882
- g A 80,000& x1H ~ 123 960
-S| 60,0003 x1H + 122 720
EMIAHN(EUS) 10,000 9,400 600
203 HEF=4H 10,000 9,400 600
01 JI22FHR=8H| 6,600 6,000 600
OJI22ZHRF=LH 6,600,000& 6,600
02 ZFBEAIMHRFAHY| 400 400 0
OFAIMHRFAH| 40,000 +10 400
04 RA2EYRFAH| 3,000 3,000 0
ORN2ZYRFZEHI(152/10/0t)
250,000& 128 3,000
Jl=2ZdHl(sUs) 60,758 63,444 N2,686
Jl2ddl(suUs) 60,758 63,444 N2,686
201 LEH23H] 39,078 45,844 N6, 766
01 AtR2eltl 16,900 23,744 NG6,844
ORAM2Z AIRZ2IHI(ZS) 16,900,000 16,900
02 B2=29gH| 22,178 22,100 78
OodJIe= 13,557,000& 13,557
OFLRER= 8,621,000 8,621
202 Oddl 20,480 17,600 2,880
01 =LY 20,480 17,600 2,880
OZelE=&0 2,000,000& 2,000
OJ12dR=30HI (1Y) 18,480,000& 18,480
405 KHEHRE S| 1,200 0 1,200
01 TMH=ZFHSHI 1,200 0 1,200
OAIREAHHI R 7Y 300,000& = 44 1,200




